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   A 309  FLAIR 1/1 TWIST AIRBORNE 

TO PUSH UP  
 

 
 

 

A 310  FLAIR  ½ TURN, 1/1 TWIST 
AIRBORNE TO PUSH UP (PIMPA) OR 
TO WENSON 
 
 

 
 
 
 

A 316  FLAIR 1/2TURN  TO SPLIT 
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A 317  FLAIR 1/1 TURN TO SPLIT 
 

Flair Family

Symbol

Symbol

Symbol

Symbol

Symbol

A 286

A287

A288

A289
Symbol

SymbolA 299

A 290.1

A 290.2

A 300 Symbol

SymbolA 290.1

 

 A 319  FLAIR + AIR FLAIR (1 OR 2) 
 
 
                        
 
 
 
 

              2 

A 320  FLAIR + AIR FLAIR (1 OR 2) + 
FLAIR  
 
 
                     
 
 
 

   2 

A 326  FLAIR TO WENSON 
 
 
 
 
 
 
 

A 327  FLAIR ½ TURN TO WENSON 
 
 

 
 
 
                    

A 328  FLAIR 1/1 TURN TO WENSON 
 
 

 
                   
                     

A 329  FLAIR 1/1 SPINDLE TO 
WENSON 
  
 

 

A 330  FLAIR BOTH SIDES 
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A 337  FLAIR TO LIFTED WENSON   
 
 
 
 
           
 
 
 
 
 

A 338  FLAIR ½ TURN TO LIFTED 
WENSON  
 

 
 
 
               

A 339  FLAIR 1/1 TURN TO LIFTED 
WENSON 
 

Flair Family

Symbol

Symbol

Symbol

Symbol

Symbol

A 286

A287

A288

A289
Symbol

SymbolA 299

A 290.1

A 290.2

A 300 Symbol

SymbolA 290.1

 
 
               

 

Flair ½ turn 1/1 twist airborne to push

Element 11 – Flair ½ turn 1/1 twist airborne to push

Element 12 – Flair 1 air turn

Flair 1/1 air turn
Vidéo : FX flair hdst hops.avi & Element7.mpg

Vidéo : New Element THA 2010.mp4

Proposition

Symbolique

Element 13 – Flairs Both Directions
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A 364  HELICOPTER 
 

 

                           

A 365  HELICOPTER TO WENSON 
 
 

 
 

 

 

   A 374  HELICOPTER TO SPLIT 

 

 

A 375  HELICOPTER ½ TURN OR   
½ TURN TO SPLIT 
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A 366  HELICOPTER TO LIFTED 
WENSON OR TO LIFTED WENSON 
BOTH SIDE 
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A 367  HELICOPTER ½ TURN TO 
LIFTED WENSON 
 
 
 
   
 

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

A 368  HELICOPTER 1/1 TWIST 
AIRBORNE TO  PUSH UP 

 
 

 
 

 

  

A 376  HELICOPTER ½ TURN TO 
WENSON 
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36 

0.6 0.7 0.8 0.9 1.0 
 
C 386  1/1 TURN SPLIT JUMP  
 

 
 

 

 C 388  2/1 TURNS SPLIT JUMP  
 

 
 

              

  

C 396  ½ TURN SPLIT JUMP TO SPLIT 
 

 
 

     

C 397  1/1 TURN SPLIT JUMP TO 
SPLIT 

 
 

 

C 398  1 ½ TURN SPLIT JUMP TO 
SPLIT 

 
 
 
 
 
 

 

  

C 406  SPLIT JUMP SWITCH TO SPLIT 
 

 
 

 

C 407  ½ TURN SPLIT JUMP SWITCH 
TO SPLIT 
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SWITCH TO SPLIT (ENGEL) 

 
 

 

 

C 416  SPLIT JUMP TO PUSH UP 
 

 
                                 

C 417  ½ TURN SPLIT JUMP TO PUSH 
UP 

 

                                         
 

C 418  1/1 TURN SPLIT JUMP TO 
PUSH UP 
 

 
                          

C 419  1 ½ TURN SPLIT JUMP TO 
PUSH UP 
 

 



			
 

46 

0.6 0.7 0.8 0.9 1.0 
 

 C 587  BUTTERFLY 1/1 TWIST 
 

Element 16 – BUTTERFLY

Proposition

Symbolique

Butterfly

Butterfly 1/1 twist airborne

Element12.mpg.

Proposition

Symbolique

DESSINS : BIDAULT Gérald - Tous droits réservés 01/2012

NEW ELEMENTS - Meeting Shenzhen (CHN)

June 2011
Page 4/4

Butterfly 2/1 twist airborne

Proposition

Symbolique

 
 
                    

 

C 588  BUTTERFLY 1/1 TWIST TO 
PUSH UP 
 
 
 
 
 
    

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

New elements Reply - IRI              1  

 

 

 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

 

New elements Reply - IRI              2  

 
 
 

1

 

 C 590  BUTTERFLY 2/1 TWISTS  
 
 
               0. 

     

     

    
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Element 16 – BUTTERFLY

Proposition

Symbolique

Butterfly

Butterfly 1/1 twist airborne

Element12.mpg.

Proposition

Symbolique

DESSINS : BIDAULT Gérald - Tous droits réservés 01/2012

NEW ELEMENTS - Meeting Shenzhen (CHN)

June 2011
Page 4/4

Butterfly 2/1 twist airborne

Proposition

Symbolique


